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ECONOMICS — GENERAL
Paper : GE/CC-2

(Introductory Macroeconomics)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Group - A

1. Answer any ten questions : 2x10

(a) Define National Income.

(b) What is the shape of Aggregate Supply Curve under the Classical Model?

(c) What is meant by the problem of double counting in estimation of National Income?
(d) What is neutrality of money?

(e) What is hyper inflation?
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(f) Mention two fundamental differences of Keynesian theory and classical theory.

(8) If Average Propensity to Consume is > , what will be the value of Average Propensity to Save?
g P Y 5

(h) I savings function is given by S =~ 100 + 0.5 Y and if investment [ = 2 1,900 crores, then what
will be the cquilibrium level of income (Y)?

(1) What do you mean by Phillips Curve?
() What is meant by High-powered Money?
(k) What is Cash-Reserve Ratio?
(I) What is devaluation of currency?
(m) What is difference between Balance of Payments and Balance of Trade?
() Give two examples of invisible items in the Balance of Payments of a Country.

(0) State Say’s Law of markets.

Group - B
Write notes on any three. 5x3

2. Instruments of Monetary Policy
3. Circular Flow of National Income
4. Paradox of Thrift
5. Different measures of Money supply
6. Disequilibrium in Balance of Payments.

Group - C

Answer any three questions.

7. (a) Explain, with assumptions, the Keynesian model of National Income determination.

(b) If consumption function is C = 80 + 0.8Y (where C = consumption and Y = income) and autonomous
investment (I) = 120, find the equilibrium level of income and consumption. If autonomous
investment increase to 180, what will be the increase in equilibrium income? 7+3

8. Discuss demand pull inflation. What is its difference with cost push inflation? 6+4
9. Describe the Liquidity Preference Theory by Keynes. What are the limitations of this theory? 743
10. Discuss the Quantity Theory of Money. What are the defects of this theory? 743

11. What are the defects of Absolute Advantage Theory in international trade? In this context, discuss the
comparative Advantage Theory of Ricardo. 347




